H & 0l & AHS B Ml A

248 206 Letel 5 SE=sA 0
SN ST RSN
S HH Al =4
e EAIESE RRIES (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
& S=1 6,492,337 6,361,205 131,132
= 290,882
== 637,762
Al 5,563,693
MEEAl =4 2,234,800 2,012,500 222,300
= 444,000
Al 1,790,800
CASE RAEs 2,234,800 2,012,500 222,300
=S 444,000
Al 1,790,800
SE U Ha 2 SSeAEA fg2d 60,000 60,000 0
401 AIEHIZ SR THYI 60,000 60,000
01 AlZ8| 60,000 60,000
o=z A2 60,000
Rt &2 146,800 209,500 262,700
201 er2 3| 91,800 102,000 210,200
01 At2tlt] 91,800 102,000 10,200
oMdDISE Y S 91,800
401 AIEHIX SO 50,000 102,500 A52,500
01 AlZH| 50,000 102,500 /52,500
OFuIsS WEZI| 852 TEAL(F00
) 50,000
405 AtatE = 5,000 5,000
01 Tt 2SS F=HI 5,000 5,000
O3 2elE 5,000
STANEE RAES 1,461,000 1,461,000
201 er23 | 300,000 300,000
2 52434l 300,000 300,000
0332= € MAl 282,000
OXtg S &l =Aldl 18,000
206 M=l 60,000 60,000
01 M=4l 60,000 60,000
OsTAd= 5 23 1N 30,000
OXIINE=E & 28 M 15,000
O==22IE NM(EH], +2=A S) 5,000
©012l0l =0IAIE XtiK 10,000
401 Al HIZ S OHbI 1,101,000 1,101,000
01 AlZ2H| 1,100,000 1,100,000
OsTAE= & =5 72 1,100,000
03 Al 20HHI 1,000 1,000 0
O=2ANE=E & =5 FA2 1,000
FOHOE ZASZME(Z ZO0A) 444,000 62,000 382,000




2A:

57 BE=XD

o/

T META E4
Rl TAIESE FAEs EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 444,000
401 A& B2 20HY| 444,000 62,000 382,000
T 444,000
01 Al&HI 444,000 62,000 382,000
O=2EFNHE SHSZML 444,000
& 444,000
L= 020l sO0IAl4 &I 70,000 70,000 0
401 AIEHIZL 201 70,000 70,000
01 Al&HI 70,000 70,000
OL=F o{el0l =0lAld FH| 70,000
KUS& Bt ZdIArS 50,000 0 50,000
401 AIEHIZL 208 50,000 50,000
01 Al&HI 50,000 50,000
O+= %eldHl ¥ uted| 50,000
=011 S NE3d 38 gs 3,000 0 3,000
307 2Iz2+0l™ 3,000 3,000
02 QIZHA A AL E & 3,000 3,000
ONgz=d sZ&8s &= 3,000
AETRE XS 3,257,577 3,338,345 280,768
= 290,882
= 177,762
Al 2,788,933
METR BSR4 980,269 1,067,386 A87,117
= 247,6%6
= 148,154
Al 584,419
At THOH L K2l (A= X 2RI 473,981 471,897 2,084
= 189,592
T 85,316
Al 199,073
101 2124l 467,192 465,108 2,084
= 186,876
& 84,094
Al 196,222
M IIZINZ2Z2 NS Es 467,192 465,108 2,084
Ot Z RIS et Y B8z 467,192
= 186,876
& 84,094
Al 196,222
201 B2 AY| 6,789 6,789 0
= 2,716
& 1,222
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SN SR BA=X D
M ARINIR A
Rl MEAE ESsY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 335,382
04 JIZtNZ22 XS 2+ 381,116 372,270 8,846
OM=ZAIE 12| & 288 381,116
s 45,734
Al 335,382
206 MH=HI 1,350 1,350 0
= 270
Al 1,080
01 MHZH| 1,350 1,350 0
Oa2=X gt 1,350
= 270
Al 1,080
2oHENE LAl 9,77 31,444 N21,673
= 5,176
= 1,257
Al 3,338
101 @124H| 9,771 31,444 N21,673
= 5,176
S 1,257
Al 3,338
M ORNZZE2NSES 9,771 31,444 N21,673
OgaiEL M 212 & E8= 9,771
= 5,176
& 1,257
Al 3,338
24 Holl S 20,000 20,000 0
206 M=l 20,000 20,000
01 MZH| 20,000 20,000
Otz Hollgs S 2MS Nl 20,000
MHHMHSHEL (B4 37,401 36,607 794
= 18,701
= 5,610
Al 13,090
101 @124H| 32,084 31,293 791
= 16,043
< 4,812
Al 11,229
M ORIMZZ2NSE S 32,084 31,293 791
OMSEHSUHELMN 128 X 25 32,084
= 16,043
== 4,812
Al 11,229
201 er23| 5,317 5,314 3




SN SR BA=X D
A MRNE XY
&t MEIE Eesd (EEEE))
SN - B S(BH) - HBAY - BAS 0 &y e HIRS2
= 2,658
T 798
Al 1,861
01 At2teldl 1,000 1,000 0
OKAHMNSHETH Mt WEHl S 1,000
= 500
& 150
Al 350
02 S32ZH| 4,317 4,314 3
OZHIxIZ 22| Y X K= 4,317
= 2,158
& 648
Al 1,511
AMSHH S0 E L H S (XH2) 977 977 0
= 489
& 146
Al 342
206 MHEH| 977 977 0
= 489
& 146
Al 342
01 MHZHl 977 977 0
OKeEE LS A 977
= 489
= 146
Al 342
AFZITHOH L KHel (AFAFENS &0l 2hCt) 13,500 29,943 16,443
= 5,400
= 5,670
Al 2,430
101 14| 13,500 26,893 13,393
= 5,400
T 5,670
Al 2,430
M4 II2HZ2ZXNSES 13,500 26,893 13,393
OAAERS A OIS o114 & B8 = 13,500
= 5,400
T 5,670
Al 2,430
AN SR2RE 29 19,115 28,100 8,985
= 19,115
301 EEXZ 19,115 28,100 8,985
= 19,115




SN SR BA=X D
M ARINIR A
el MERE ESEY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
0 AR=R22as 19,115 28,100 A\8B,985
OAt=| AMHIAZ0F Q1S | 19,115
= 19,115
=X =4 2cl 2,277,308 2,270,959 6,349
= 43,186
s 29,608
Al 2,204,514
SSAE I 84,843 138,030 N53,187
= 43,186
= 12,506
Al 29,151
101 21A4H| 73,336 117,536 A44,200
= 36,669
= 10,999
Al 25,668
MU IIRINZZENSES 73,336 117,536 AN44,200
OLHE A ZALEL 21248] & 283 24,410
= 12,205
& 3,661
Al 8,544
O=HIIHEE 22| & 2= 48,926
= 24,464
< 7,338
Al 17,124
201 Ler=23| 11,057 19,694 N8,637
= 6,267
< 1,432
Al 3,358
01 At2teltl 10,357 18,360 /8,003
OLHE THAZ AL =] 500
= 500
O=IHHIIHEE W=l 1,000
= 1,000
O=IHIINHEE =278l 8,857
2 4,417
= 1,327
Al 3,113
02 s3=4H 700 1,34 AB34
Ot THAZALEE EHHISXIHl ¥ A&ERFHI 500
= 250
= 75
Al 175
O=IFIINEES HHIRAHl ¥ AHERFHI 200




SN SR BA=X D
M ARINIR EA
=elr =X X4 2l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 100
=S 30
Al 70
202 04| 450 800 A350
= 250
= 75
Al 125
01 2K 450 800 A350
SHIIHESE N - 2= 450
= 250
= 75
Al 125
HEE Al =X 8d &4 723,800 726,500 A2,700
201 et 3| 40,300 43,000 A2,700
01 AtR2te|Hl 24,300 27,000 A2,700
O=iAld=E 29 24,300
02 35244l 16,000 16,000 0
Oxtg & AIE &l || 16,000
206 MH=Hl 19,000 19,000
01 MZH| 19,000 19,000
O=lAgae =3 19,000
401 Al HIYL S0 661,000 661,000
01 AlZ2H| 660,000 660,000
O=X 238 e 660,000
03 Al 20HHI 1,000 1,000 0
o= &4 Mo 1,000
405 AHaHE = 3,500 3,500
01 It =S F=H 3,500 3,500
O=Xl2c| & 3,500
=N AIE=S 8dl SA 50,000 50,000 0
401 AIZHIX S0HH 50,000 50,000
01 AlZH| 50,000 50,000
O=XU Ald= EHl SA 50,000
=X 452tE A 50,000 50,000 0
401 AIEHIZ SR HYI 50,000 50,000
01 Al&HI 50,000 50,000
OZF =X WFHBIHLAI 50,000
FOHOE SAAIE SZHE(C SO0ilAH 10,000 0 10,000
= 10,000
401 AIEHIZ SR THYI 10,000 0 10,000
< 10,000
01 Al&H| 10,000 0 10,000




SN SR BA=X D
Y MR £
el =X 2y 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFQENWE =XIAE 3 10,000
= 10,000
sMRel =5 18,715 17,640 1,075
S 5,612
Al 13,103
101 @124H| 18,715 17,640 1,075
= 5,612
Al 13,103
MU IIRIMZENSES 18,715 17,640 1,075
OZAI=AI2elel 18,715
= 5,612
Al 13,103
MBS =9 el SX2el 9,950 15,789 A5,839
[ 1,490
Al 8,460
101 @124H| 9,950 15,789 Ab,839
S 1,490
Al 8,460
M ORINZZE2NSE S 9,950 16,789 A\b,839
OMEZts =9 dHi= S22 9,950
= 1,490
Al 8,460
e 24 & Rl 1,180,000 1,083,000 97,000
201 fer= 3| 47,000 50,000 A3,000
01 At 2|l 27,000 30,000 23,000
OJIZ2+ ANd= 284 27,000
2 35244l 20,000 20,000 0
Oxtgr FAlH] 20,000
206 M=l 17,000 17,000
01 MZH| 17,000 17,000
OJz==Aldde =23 17,000
401 AIEHIX R0 1,101,000 1,001,000 100,000
01 A28l 1,100,000 1,000,000 100,000
OJtZ24 EAAY 300,000
OJI124 KXY 600,000
OJt2== JHXIXIDIALE 150,000
OLAE & AASF HAHAE 50,000
03 AIZSTHYI 1,000 1,000 0
Otz &4 & =Al2 1,000
405 AtatE = 15,000 15,000
01 TR =S FSHI 15,000 15,000
OJt2= 22| &l 15,000




=N 23 2

=
-/ -
Hu: AR EX

el =X =4 2l (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2 dSSZNEAMY 150,000 150,000
401 Al HIZL 201 150,000 150,000
01 Al&HI 150,000 150,000
Otz 2o H AIE=S FHIAY 150,000
AAE dMEjote &4 960,200 968,200 /8,000
[ 16,000
Al 944,200
e ot =Al2el 960,200 968,200 28,000
= 16,000
Al 944,200
o2 & FX2el 628,200 968,200 A340,000
201 Ler23| 59,200 61,200 22,000
01 At2teltl 18,000 20,000 /2,000
Odgt+==H| 2,000
Odtd =Al2e| itz 9,000
OHX, QHHE T S 7,000
02 S5=24g4l 41,200 41,200 0
03882= £ HA 32,800
OAEEBIS X 4,800
OXtgrs el 3,600
206 M=l 15,000 15,000
01 MHZH| 15,000 15,000
Oodtd =Rl M= 15,000
401 Al HIZL 201 552,000 890,000 A338,000
01 Al&H| 550,000 888,000 /338,000
OotdE s & FA2e 550,000
03 A2 2 0HYI 2,000 2,000 0
OotdE s & 72 2,000
405 AtatE = 2,000 2,000
01 TR ESFSHI 2,000 2,000
Ou=Jl & dFI| 78 2,000
FOEME otd2s & RA2AL(Z FHO0A) 16,000 0 16,000
< 16,000
401 AIEHIX R0 16,000 0 16,000
=S 16,000
01 Al&H| 16,000 0 16,000
O=2FHME old=2s & FAl2c 16,000
= 16,000
s ot & x4 300,000 0 300,000
401 Al HIZL 201 300,000 0 300,000
01 Al&H| 300,000 0 300,000
Ootd ZHIDI & XN&E+== HMAA 300,000
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16,000
16,000
10,000

6,000

22,400
22,400
22,400
22,400
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MEE
Ofl &k2h

42,160
42,160
42,160
26,200

24,000

2,200

12,960
12,960

3,000
3,000

Ofl &F2H

16,000
16,000
10,000
10,000

6,000

6,000
39,760
39,760
39,760
23,800
21,600

15,120
6,480
2,200
2,200

12,960

12,960

12,960
3,000
3,000
3,000
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250,000& = 128




